TP n (PCA to beamline)

a(d cot(B))

(SN
<

=
2
N

0 1 2 3
TP n (PCA to beamline)

—— DQM_TT__mkFit-DQM orlglnal newwindows
—— DOQM_TT_mkFit-DOM_update-mod127

[—=— DQM_TT__mKFI-DQM_original
—_— /dataz/leglann|/standa|6ne May24/CMSSW_13_2_X_2023-06-05-1100/src/DQM_TT__mkFit-DQM_updated}{0

_
£
o L
=
—
>
x
o L
)
=
©

=3 -2 -1 0 1 2 3

TP n (PCA to beamline)

910__
"(6‘ 12ttt
o s
e EREPR O ARTPEEE R - B RREEErEREEPES
oo f b b fll
3 =2 1T 0 1 2 3

TP n (PCA to beamline)

3
2}
o>
2
e} _
1074
107%k=:
g 1
©
e
0.5

1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


